Wright State University Fall 2016
Department of Mechanical and Materials Engineering

ME 2120: STATICS
FINAL EXAM
OPEN BOOK, CLOSED NOTES, SHOW ALL WORK FOR PARTIAL CREDIT

Problem 1: (10 points) Determine the horizontal and vertical components of force which the pins at A and B
exert on the frame, and the forces in all two-force members. State whether the two-force members are in tension

or compression.
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Problem 2: (5 points) For the frame in Problem 1, determine the axial force, the shear force and the bending
moment in member BFC at the point that is mid-way between points B and F.

Problems 3 and 4 are on the back of this sheet.



Problem 3: (6 points) Determine the minimum coefficient of static friction between the uniform 50-kg spool
and the wall so that the spool does not slip.
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Problem 4: (9 points) Determine y, which locates the centroidal axis x’ for the cross-sectional area of the T-
bar, and then find the moment of inertia of area about the x” axis.
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